Ch 19 C - Kinematics
Example: Given f'(x) = 2x—1 and £(0)=3. Find f(x)
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Example: Given f'"(x)=2x+1, f'(I)=3 and f(2)=7
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Suppose a car travels at a constant positive velocity of
100 km/h for 30 minutes. How far has it travelled?
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EXERCISE 19C.1

1 A nmner has the velocity-time graph shown. Find i
the total distance travelled by the runner.
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A particle moves in a straight line and has acceleration given
by a(r) = 61+ 4. Its initial velocity 1s :1:(0} = —6cm/ sec and

mmmmmmmm

function.
= fatid s(k) :j" O dt
= {(ot oy )t = (3L +4t-6) 4k
j sW) - ALtk i K
T ek S
~o =3(6F+ (o) + C

-b=C @) : L6t +9

ve) = Al



EXERCISE 19C.2
1 A particle has velocity function v(t) =1-—2f ecms™" as it moves in a straight line. The particle
15 imbally 2 cm to the right of 0. éru'\l: ?_
a Write a formula for the displacement function s(t).
b Find the total distance travelled in the first seg of motion.

¢ Find the displacement of the particle at the end of one second.
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Example: A particle moves along a line so that its velocity at
time tis v(£)=¢> —7—6

A) Find the displacement of the particle during the time
period 1<7<4 s(y)-s0
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B) Find the distance travelled during this time period
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